2023A

] DRAWING LIST:

SHEET NUMBER |DRAWING DESCRIPTION
CS COVER SHEET
1 ARCHITECTURAL ELEVATIONS
L 2-2.1 ANCHOR AND FOOTING LAYOUT / DETAILS

3 STRUCTURAL FRAMING PLAN
4-4.1 FRAME CONNECTION DETAILS

A Division of PORTERCORP 4240 N. 136th AVE HOLLAND, MI 49424 (616) 888-3500 5 ELECTRICAL VIEWS-N/A

PROJECT NAME: CIVITAN PARK U

MATERIALS:

PROJECT LOCATION: HICKORY, NC DESCRIPTION

TUBE STEEL
SCHEDULE PIPE

A53 (GRAD

BUILDING TYPE: REK 20 X 24 RMT PIPE A519
LIGHT GAGE COLD FORMED ~ A1003 (GRADE 50)
STRUCTURAL ST(EEL PL)ATE A3
. - ROOF PANELS (STEEL Ab5
ROOF TYPE: MULTI-RIB ANCHOR BOLTS SEE SHEET 2.1
) GENERAL NOTES:
BUILDING NUMBER: P15909 7. UNLESS NOTED OTHERWISE, THIS STRUCTURE WAS DESIGNED TO ONLY SUPPORT WHAT IS

ORDER NUMBER: IEWED AND POSSIBLY
. URE DETAILED IN THES
ABRICATES THE STEEL

WITH THE AMERICAN INSTITUTE OF STEEL CONSTRUCTION (AISC) SPECIFICATION
MANUAL REFERENCED IN THE GOVERNING BUILDING CODE.
ALL WELDING IS PERFORMED BY AMERICAN WELDING SOCIETY (AWS) CERTIFIED
WELDERS AND CONFORMS TO AWS D1.1 OR D1.3 AS REQUIRED.
PARTS SHOWN MAY BE UPGRADED DUE TO STANDARDIZED FABRICATION. REFER TO THE
SHIPPING BILL OF MATERIALS AND FINAL INSTALLATION INSTRUCTIONS INCLUDED WITH
THE STRUCTURE FOR POSSIBLE SUBSTITUTIONS AND IMPROVEMENTS.
FOR PROPER FIELD INSTALLATION OF THE BUILDING IT IS RECOMMENDED THAT THE

THE ROOF INST, IVE (5) YEARS

OF THE BUILDING IT IS RE
ROUGH THE STRUCTURAL

ICATIONS TO THE STRUCT
ROVAL OF

MENDED THAT ELECTRIC
BERS BEFORE THE

STEEL MEMBERS IS NOT
ON.

CERTIFICATES:
MIAMI-DADE COUNTY CERTIFICATE OF COMPETENCY NO. 22-0830.04
PCI (POWDER COATING INSTITUTE) 4000 CERTIFIED

FABRICATOR APPROVALS:

CITY OF PHOENIX, AZ APPROVED FABRICATOR #C08-2010
CITY OF LOS ANGELES, CA APPROVED FABRICATOR #FB01596
CITY OF RIVERSIDE, CA APPROVED FABRICATOR #SF_000042
CITY OF HOUSTON, TX APPROVED FABRICATOR #470

CLARK COUNTY, NV APPROVED FABRICATOR #264

~V STATE OF UTAH APPROVED FABRICATOR 02008-14

AISC APPROVED FABRICATOR C-00020688

AWS CERTIFIED WELDING FABRICATOR #221003F

DESIGN CRITERIA:

GENERAL:
2018 NORTH CAROLINA BUILDING CODE
RISK CATEGORY: Il

DEAD LOAD:
ROOF DEAD LOAD: 2 PSF
FRAME DEAD LOAD: SELF WEIGHT

LIVE LOAD:
ROOF LIVE LOAD: 20 PSF

SNOW DESIGN DATA:
GROUND SNOW LOAD (Pg): 15 PSF
FLAT ROOF SNOW LOAD (Pf): 13 PSF
SNOW EXPOSURE FACTOR (Ce): 1.0
SNOW LOAD IMPORTANCE FACTOR (Is): 1.0
THERMAL FACTOR (Ct): 1.2
ROOF SLOPE FACTOR (Cs): 1.0
DRIFT SURCHARGE LOAD (Pd): 0 PSF
WIDTH OF SNOW DRIFT (w): O FT
MINIMUM HORIZONTAL SEPARATION DISTANCE (s): 20 FT

WIND DESIGN DATA:
BASIC WIND SPEED (V): 115 MPH
ALLOWABLE STRESS DESIGN WIND SPEED (Vasd): 89 MPH
GUST EFFECT FACTOR (G): 0.85
INTERNAL PRESSURE COEFFICIENT (GCpi): 0
WIND EXPOSURE: C

SEISMIC DESIGN DATA:
STEEL SYSTEMS NOT SPECIFICALLY DETAILED
FOR SEISMIC RESISTANCE

SEISMIC IMPORTANCE FACTOR (le): 1.0
SEISMIC DESIGN CATEGORY: C
SEISMIC SITE CLASS: D

SHORT SPECTRAL RESFZ)ONSE (Ss): 0.55

PONSE (SD1): 0.20

IENT (Cs): 0.17

OEFFICIENT (R): 3.00
EDURE

EQUIVALENT LATERAL F
SEE CALCULATIONS FO

WWW.POLIGON.COM

®

by PORTER CORP

MAIN: (616) 888-3500

FIELD SUPPORT: (616) 888-3504

PRINT DATE:

1:75

2/28/2023

SCALE:

DRAWN BY:

samuel.dewitt
A

REV LEVEL:

CREATION DATE:

4/4/2016

74608
CAD MODEL: ~—P ,I 5909

ORDER NO:

PROJECT:

CIVITAN PARK
HICKORY, NC
COVER SHEET

PROJECT LOCATION:

DRAWING:

IF THESE DRAWINGS ARE SEALED, THE SEAL APPLIES ONLY TO BUILDING
COMPONENTS DETAILED WITHIN THESE DRAWINGS AND SUPPLIED BY
PORTER CORP AS WELL AS THE FOUNDATION DESIGN, IF APPLICABLE.

SHEET

0
7




24'-0"

REF.

20'-0"

REF.

FINISH GRADE

(ASSUMED AT CONSTANT
ELEVATION UNLESS
OTHERWISE NOTED)

D

S~

10-11 1/4"

REF.

®

WWW.POLIGON.COM

by PORTER CORP

MAIN: (616) 888-3500

FIELD SUPPORT: (616) 888-3504

PRINT DATE:

2/28/2023

SCALE:

1:64

DRAWN BY:

samuel.dewitt

REV LEVEL:

CREATION DATE:

4/4/2016

74608
CAD MODEL: -P ,I 5909

ORDER NO:

PROJECT:

Civitan Park

PROJECT LOCATION:

Hickory, NC
ARCHITECTURAL ELEVATIONS

DRAWING:

IF THESE DRAWINGS ARE SEALED, THE SEAL APPLIES ONLY TO
BUILDING COMPONENTS (AND FOUNDATION DESIGN IF APPLICABLE)
DETAILED WITHIN THESE DRAWINGS.

SHEET




| 20-0"

AN

25'-7 3/8"

REF.

REFEREN

POINTS TO TRUSS SIDE OF COLUMN.

SHEET 2

®11/8" THRU

ELECTRICAL ACCESS HOLE

RROW TI

ANCHOR AND FOOTING LAYOUT NOTES:

1. ANCHORS MUST BE CENTERED IN
FOOTINGS

2. FOOTINGS MUST BE TURNED TO ALIGN
WITH COLUMN AND TRUSS
CENTERLINE.

4X @ 3/4" THRU
ANCHOR BOLT HOLE

ON

¢

11/2"TYP

®

WWW.POLIGON.COM

poligo

MAIN: (616) 888-3500

FIELD SUPPORT: (616) 888-3504

by PORTER CORP

m ANCHOR BOLT PATTERN
Q/ BASE PLATE THICKNESS: 1/2"

Q| ©
S| @
Q|
<
oSy
z NI
R
=
3
O <
=20|d
2203
<55
g9|g
o~
212
IS n
s o
F| ®|
Wi ol
= 0
< o
a ,,vu_l
z o |o
O z (o]
2 8 |5
L [a)
<
5 18 |o
—
=)
O
>_
<
-
Zz
—
ol O
zZ| O
>:U_
vl x| 8
x| O| £
<| 2| <
ol O
Z,.T CI)
Z
=2 O
=5 | Z
op |.<
= — O
e R [E
S B E
g R E

IF THESE DRAWINGS ARE SEALED, THE SEAL APPLIES ONLY TO BUILDING
COMPONENTS DETAILED WITHIN THESE DRAWINGS AND SUPPLIED BY
PORTER CORP AS WELL AS THE FOUNDATION DESIGN, IF APPLICABLE.

SHEET




1/2" NUT

1/2" WASHER

(4) PLACES

(ENSURE 1 1/2" *3/#
EXPOSED FROM TOP

COLUMN
(LOCATED AT CENTER OF FOOTING)

TOP OF CONCRETE FOOTING

OF FOOTING)

@ 2'-0" FINISHED GRADE

UNLESS OTHERWISE NOTED)

@1/2'X10" LONG

ANCHOR BOLT

(4) PLACES

(8" EFFECTIVE EMBEDMENT
FROM TOP OF FOOTING TO
TOP OF HEAD/THREADED NUT)

OPTIONAL SLAB &
EXPANSION MATERIAL
NOT BY MANUFACTURER

A
(3
de

40"
MINIMUM

/L
7/
L
A\

i
AwmvmuY

2 TIES INTHETOP 5"

/L
7/
JL
A\

/SN I

/s

\L

PIER FOOTING OPTION (INTERNAL ANCHOR BOLTS)

(ASSUMED AT CONSTANT ELEVATION

(6) #6 VERTICAL BARS (EQ. SPACED)
#4 HORIZONTAL TIES AT 6" O.C. WITH

ENSURE 3" CLEAR DISTANCE BETWEE
~=—EDGE OF REINFORCING AND EDGE
CONCRETE FOOTING (TOP, SIDE, AND BOTTOM)

FOOTING.D N BY MANUFACTURER, FOOTING MATERIALS BY,
(TYPICAL N, QTY O ) ANC
S D IN'NOTE LECT SHESP REQUIREMEN

) PLACES

(ENS 1/23/2
EXPOSED EROM TOP COLUMN

QFFOOTING) T CENTER OF FOOTING)

@1/2'X10" LONG

ANCHOR BOLT

(4) PLACES

(8" EFFECTIVE EMBEDMENT
FROM TOP OF FOOTING TO
TOP OF HEAD/THREADED NUT)

FINISHED GRADE

3-0"

Z,
[T

UNLESS OTHERWISE

AND BOTTOM)

EACH WAY, TOP & BOTTOM

PAD FOOTING OPTION (INTERNAL ANCHOR BOLTS)

FOOTING DESIGN BY MANUFACTURER, FOOTING MATERIALS BY OTHERS.
(TYPICAL WITH EACH COLUMN, QTY OF REINFORCING AND ANCHOR BOLTS
SPECIFIED IN NOTES REFLECT SITE SPECIFIC REQUIREMENTS)

TOP OF CONCRETE FOOTING

(ASSUMED AT CONSTANT ELEVATION

(4) #5 HORIZONTAL BARS (EQ. SPACED)

ANCHOR BOLT NOTES - INTERNAL (ANCHOR BOLTS LOCATED WITHIN COLUMN):
1. ANCHOR BOLTS SHALL BE ASTM A307 (GRADE A) MATERIAL UNLESS OTHERWISE NOTED.

ANCHOR BOLTS SHALL BE EITHER "HEADED" OR "THREADED WITH NUT" AS DEFINED IN THE AMERICAN INSTITUTE OF STEEL CONSTRUCTION MANUAL.

2.
3. HOOKED ANCHOR BOLTS ARE NOT ACCEPTABLE.
4

ACCURATE ANCHOR BOLT PLACEMENT IS CRITICAL. TO ENSURE THE ANCHOR BOLT LAYOUT MEETS THE DIMENSIONS REQUIRED ON THE DRAWINGS,
SURVEY (OR MEASURE) THE LOCATION OF ALL ANCHOR BOLTS PRIOR TO POURING THE FOOTINGS. AN ADDITIONAL SURVEY (OR MEASUREMENT)
SHOULD BE MADE AFTER THE FOOTINGS ARE POURED TO CONFIRM THE ANCHOR BOLTS DID NOT SHIFT DURING THE CONCRETE POUR.

5. THE MANUFACTURER STRONGLY RECOMMENDS USING ANCHOR BOLT TEMPLATES BECAUSE THEY SIGNIFICANTLY IMPROVE THE ACCURACY OF
ANCHOR BOLT PLACEMENT. AN ANCHOR BOLT TEMPLATE IS PROVIDED WITH ANY ANCHOR BOLT KIT PURCHASED.
6. IF OUTSIDE CONSULTING ENGINEERS ARE DESIGNING THE FOUNDATIONS FOR THIS STRUCTURE, THEY MUST REFER TO THE MANUFACTURER'S

CALCULATIONS FOR MINIMUM CONCRETE PROPERTIES (COMPRESSIVE STRENGTH, EDGE DISTANCE, ETC.) REQUIRED FOR THE ANCHOR BOLT DESIGN.

A PINNED COLUMN BASE.

AS-E ROD WITH MINIMUM 6" EMBEDMENT.

O TYPEIIORTYPE V.

W=

FOR CONCRETE BY EXPOSURE CLASS.

THE USE OF CHLORIDE ACCELERATORS IS NOT PERMITTED.

COARSE AGGREGATE SHALL BE #57 OR LARGER.

CONCRETE AT PLACEMENT SHALL HAVE A SLUMP OF 4" +/- 1",

MINIMUM CONCRETE COMPRESSIVE STRENTGH AT 28 DAYS: 4500 PSI.

REINFORCING STEEL SHALL BE DEFORMED STEEL CONFORMING TO THE REQUIREMENTS OF

® N0 A

ER
ETE, REINFORCING ST

, HER
IS NOT ALLOWED.
ER OF FOUNDATIONS

FOUNDATION NOTES:

1. FOUNDATIONS SHALL BEAR ON COMPETENT, UNDISTRUBED SOIL OR 95% COMPACTED FILL.
IF SIGNS OF ORGANIC MATERIAL, UNCONTROLLED FILL, CLAY OR SILT, HIGH WATER TABLE
OR OTHER POSSIBLE DETRIMENTAL CONDITIONS ARE FOUND, CONSTRUCTION OF THE
FOUNDATIONS MUST BE STOPPED AND A GEOTECHNICAL ENGINEER BE CONTACTED.

SUBGRADE CONTAINING

ERMITTED TO AC
'S RESPONSIBILITY T
ON.

N DO NOT MEET LOC
ION AS REQUIRED, EXTE
EET SPACING REQUIREM
T MET, AND NO DRILLE

NDATION EXCAVATIONS.
CAL FROST DEPTH REQUIREMENT

T DEPTH REQUIREMENTS, EXTEND THE
G THE VERTICAL BARS AND PROVIDING
AS SHOWN. IF FROST DEPTH

R DESIGN IS PROVIDED, CONTACT

TITUTED FOR THE CAST-IN-PLACE ANCHOR BOLTS:

ELECTRICAL ACCESS HOLE IS ALWAYS LOCATED IN THE COLUMN BASE PLATE AS SHOWN. BE SURE TO KEEP THE ANCHOR BOLT TEMPLATE PROPERLY
A 2OLUMN IS REQUIRED. TEMPLATE MUST BE REMOVED BEFORE INSTALLING COLUMNS.

N SPECIFICATIONS AND REQUIREMENTS OF ANCHOR MANUFACTURER.

4 TO THE CURRENT “ACI MANUAL OF CONCRETE PRACTICE".

ITIS THE CONTRACTOR'S RESPONSIBILITY TO VERIFY THE CONCRETE MIX DESIGN MEETS THE "ACI MANUAL OF CONCRETE PRACTICE" REQUIREMENTS

615 (DEFORMATIONS SHALL BE IN

WWW.POLIGON.COM

®

by PORTER CORP

MAIN: (616) 888-3500

FIELD SUPPORT: (616) 888-3504

SPREAD PAD
VERTICAL BEARING 1500 PSF
LATERAL COHESION 130 PSF
DRILLED PIER
VERTICAL BEARING 1500 PSF
LATERAL BEARING 100 PSF/FT

THE FOUNDATION DESIGN SHOWN ON THESE DRAWINGS IS NOT SITE SPECIFIC, BUT BASED
ON THE PRESUMPTIVE ALLOWABLE FOUNDATION PRESSURES IN CHAPTER 18 OF THE
BUILDING CODE (CLASS 5 SOIL). THE BUILDING OFFICIAL IN THE JURISDICTION IN WHICH THIS
STRUCTURE IS LOCATED MAY REQUIRE A SITE SPECIFIC GEOTECHNICAL REPORT OR LETTER
FROM A QUALIFIED LOCAL PROFESSIONAL ENGINEER ATTESTING TO WHETHER THE ACTUAL

SITE CONDITIONS MEET THE ASSUMPTIONS IDENTIFIED ABOVE.

[sg]
|
o .
.
<
=N
z NI
R
=
2
3| <
2 |d
£ e
g
< >
g 3L
o~
= &
IS n
5 o
S| Q| 7
Wi ol
£ 2| ..
o LYz
z d'\8
s & |z
] a a
<
5 15 |O
(0]
=
<C
'_
L
(@)
Z
—
0| O
z| O
>:U_
o
MM
x| O 2
<| 2| <
ol O
5:9
Z
=2 O
<
=I5 z
op |.<
= — O
e R [E
s b E
S S

IF THESE DRAWINGS ARE SEALED, THE SEAL APPLIES ONLY TO BUILDING
COMPONENTS DETAILED WITHIN THESE DRAWINGS AND SUPPLIED BY
PORTER CORP AS WELL AS THE FOUNDATION DESIGN, IF APPLICABLE.

SHEET

N
—




[ | .Hl_l g ; %’
[/ P-100 Y\ ®= = %
SHEET 4.1 / o 2
(2]
(@)
i
T-100 3
\_SHEET4 )/ ‘/® ol <
'_F_.' \I'-I’
%
/K100 (AT00 N | 8| ¢
\_ SHEET 4 ) \_SHEET 4.1 / %%é
— e,
| | S 3
—] ' ¥ g T
N
LFNSH GRADE
(ASSUMED AT CONSTANT =
ELEVATION UNLESS <
OTHERWISE NOTED) E_l
O
Z
N L Y % %
9
¥l gl <
Sl oy
CiI =
8 1 1M1470022 RIDGE ASM HSS6X4X1/8 162.15 g% %
7 2 1M1470012 CTUBE ASM HSS8X8X5/8 71.18 ok |5
b6 2 1M1470019 PURLIN ASM HSS6X4X3/16 236.28 g g ‘é
5 2 1M1470017 TRUSS 2 ASM HSS10X6X3/16 190.95 e R E
4 2 1M1470004 TRUSS 1 ASM HSST10X6X3/16 190.95
3 2 1M1470000 TMEM ASM HSS6X4X3/16 237.31 SHEET
2 2 1M1469997 COL 2 ASM HSS6X6X3/16 156.61
] 2 ]M]469988 COL .l ASM HSSéXéxs/] 6 ]56'59 IF THESE DRAWINGS ARE SEALED, THE SEAL APPLIES ONLY TO 3
TEM | QTY. | PART NO. DESCRIPTION MATERIAL WEIGHT o e e e e il




NOTE:
SEE UC-100 FOR U-CLIP INSTALLATION

TRUSS

NOTE:
COVER PLATE
ATTACHED WITH POP RIVETS

THESE STEPS ILLUSTRATE THE
REQUIREMENTS OUTLINED IN THE AISC

TRUSS
(1P2903) (1) PER CLEAT SPECIFICATION. THE ROTATION
AT BOTTOM OF CONNECTION INDICATED IS ACCURATE FOR MOST
| | BOLT DIAMETERS AND LENGTHS BUTIT IS
| | ; THE RESPONSIBILITY OF THE INSTALLER
| | BOLT, HEX, 3/4-10x2-1/4 | | 5/8" PLATE TO MEET AISC REQUIREMENTS.
:O_ O: 1/2" PLATE (4) PLCS EACH CONNECTION | | STEP ONE:
! ! 3/8'FLG. PLT. ! !
I I I I COMPRESSION TUBE AFTER SNUG TIGHT,
T T Y RIDGE TAIL A MATCH MARK PLATE
\ Ir il I | il r (HSS6X4X1/8) I S D
T T TENSION MEMBER TAIL WELDED TO
| |
5/8" PLATE i1y i1y (HSS6X4X3/16) SION TUBE
j& WELDED TO COL ﬁ i RIDGE BEAM
: y 1/2" PLATE STEP TWO:
THEN TURN BOLT/NUT PAST
J SNUG TIGHT 1/3 TURN
N A} )_ _____________ |
% 8" PLATE | |
" | | o
TENSION MEMBER 1/4"FLG. PLT. ' | BOLT, HEX, 3/4-10x2-1/4 D 120.00°* 50,
COLUMN (2) PLCS EACH CONNECTION
BOLT, HEX, 3/4-10x2-1/2
NUT, HEX, 3/4-10
(2) PLCS EACH CONNECTION (4) PLCS EACH CONNECTION TRUSS
COLUMN CON K-100 COMPRESSION BER CONNECTIO

CONNECTION NC
1. IGH STRE
IGH STREN

BOLTS SH
TS SHA

BE ASTM F3125 (A325,
E ASTM A563 (GRADE

2.
1P2903GAL RIVET, @ I oo o A 0175 AR
1P3089 COLUMN COVER PLATE SCREW 4 BE INSTALLED BY ONE OF THE FOLLOWING PRETENSIONING METHODS AS SPECIFIED IN THE
AISC "SPECIFICATION FOR STRUCTURAL JOINTS USING HIGH-STRENGTH BOLTS", SECTION 8:
1K1002 COLUMN COVER STRAP 4 A. TURN-OF-NUT PRETENSIONING
1M1002950 COLUMN COVER PLT 5. ?HEC?NL&R;ATTKE;%}N cRéE%'fTERNEENTﬂ? T'\Il(I;\‘H?NESS THAT IS ATTAINED WITH A FEW IMPACTS OF
AN IMPACT WRENCH OR THE FULL EFFORT OF AN IRONWORKER USING AN ORDINARY
1P2905FNULL PAINT SCREW,TEK/5,12-24x1-1/2 & THE CONNE AT
1M 1233688 CTUBE COVER PLT 8X8X1.25R SO;EBFES'TGC:';EEEO AP
1P1877 BOLT, HEX, 3/4-10x2-1/4 RUCTURAL JOINTS U GTH BOLTS' FOR GUIDANCE.
1P2025 NUT, HEX, 3/4-10 Mr/: mﬁgééﬁ ID'\IlESI\IIDT T ‘ |N§;ER<E$|ECIJ\INT TR(I?(;AllJllTR'\IIEif\SENTS
1P1919 BOLT, HEX, 3/4-10x2-1/2 :Hgﬁéﬁszglsoﬁfggi lfgls\/NAiN COLUMNS TO BE PLUMB
1M1472999 U-CLIP (UC44F14) @ 1'-7 5/16" D TO THE TRUSSES AND/ORTENSION MEMBERS BEFORE INSTALLING
1M1472998 U-CLIP (UC44F14) @ 9'-3" SL;S;L?_EBésui gé’éﬁiﬁmmﬁm UNTIL THE
1M1472997 U-CLIP (UC44F14) @ 10-0" 11, PRIORTOTHE ERECTION OF SHELTER COMPONENTS. 1 1§ RECOMMENDED T CHASE AND
1P3550 WAX STICK TAP STRUCTURAL HARDWARE.
12, ALL BOLTS MUST BE LUBRICATED WITH WAX TO ASSIST IN PROPER TIGHTENING. TO
1P2201FNULL STANDARD TOUCHUP PAINT LUBRICATE A BOLT IN THE FIELD, APPLY THE WAX STICK DOWN THE LENGTH OF THE BOLT'S
1P3234 POLIGON NAMEPLATE 13. IgRIERAEDVSIéNT RUST STAINING OF FINISH, ALL METAL SHAVINGS MUST BE REMOVED AFTER
S ON. ENSURENO'$ G G SURFACES.
1P3235 INSTALLATION DETAILS 1 14 TOUCH UP PAINT MUST BE APPLIED 10 AL EXPOSED FASTENERS, PERIODIC. TOUGH.UP AT
PART NUMBER DESCRIPTION HARDWARE/QTY. THESE CONNECTIONS IS REQUIRED.

UC44F14) @ 10'-0" (1 EA)
4F14) @ 9'-3" (1 EA)

ATTACH U-CLIP (UC44F14) @ 1'-7 7/16" (1 EA)
TO T MEMBER TAIL (4 TOTAL)

TURN-OF-NUT PRETENSIONING METHOD:

®

WWW.POLIGON.COM

poligo

MAIN: (616) 888-3500

FIELD SUPPORT: (616) 888-3504

by PORTER CORP

PRINT DATE:

2/28/2023

SCALE:

1:4

DRAWN BY:

samuel.dewitt

REV LEVEL:

CREATION DATE:

4/4/2016

74608
CAD MODEL: ~—P ,I 5909

ORDER NO:

PROJECT:

Civitan Park

PROJECT LOCATION:

Hickory, NC
FRAME CONNECTION DETAILS

DRAWING:

IF THESE DRAWINGS ARE SEALED, THE SEAL APPLIES ONLY TO
BUILDING COMPONENTS (AND FOUNDATION DESIGN IF APPLICABLE)
DETAILED WITHIN THESE DRAWINGS.

SHEET




TRUSS

PURLIN TAIL
HSS6X4X1/8
WELDED TO TRUSS

PURLIN

(7) #1224 x 1 1/2
ONE STEP SCREW
(1P2905FNULL)

(3) ALONG TOP

(2) ALONG EACH SIDE
EACH CONNECTION

NOTE:
U-CLIP MUST BE ATTACHED TO
TENSION MEMBER AS SHOWN

PRIOR TO BUILDING ASSEMBLY.

12-24 X 1 1/2" ONE STEP SCREW
(1P2905)

12" O.C. BOTH SIDES

REMOVE METAL SHAVINGS

U-CLIP

INSIDE FACE
OF TENSION MEMBER

U-CLIP SHOULD NOT
REST ON WELD SEAM

OUTSIDE FACE
OF TENSION MEMBER

COLUMN

(1) COVER PLATE (1M1002950)
(1) COVER STRAP (1K1002)——
(1) ONE WAY SCREW (1P3089)

~

&S

ANCHOR ACCESS COVER PLATE A-100

WWW.POLIGON.COM

®

poligo

MAIN: (616) 888-3500

FIELD SUPPORT: (616) 888-3504

by PORTER CORP

PRINT DATE:

2/28/2023
1:4

SCALE:

DRAWN BY:

samuel.dewitt

REV LEVEL:

CREATION DATE:

4/4/2016

74608
CADMODEL _ 515900

ORDER NO:

PROJECT:

Civitan Park
PROJECT LOCATION:
Hickory, NC
FRAME CONNECTION DETAILS

DRAWING:

IF THESE DRAWINGS ARE SEALED, THE SEAL APPLIES ONLY TO
BUILDING COMPONENTS (AND FOUNDATION DESIGN IF APPLICABLE)
DETAILED WITHIN THESE DRAWINGS.

SHEET

S
—




v05¢-888 (919) 11¥0ddNS @134 4O YILHOd Aq
00sc-888(9L9):NIVA @ 4% @900 m! o EEEErE maowavd | T T T T T T TN IMYd
INO9'NOOITOd MMM :om__om 0S:1 v 809v/L DN ‘AIOY2IH m
31VOS 113AT1 ATY ON ¥3Q¥ o INOILYOO1 103r0dd g
® €20¢/82/¢ HImapr|enwios 9L0C/v /Y NI0d UDLAID
:A1va INRNd ‘Ad NMvdd :31Vd NOILY3¥D 193rO¥d

MR-100

SHEET 7

N

7//,/&/
\

SHEET 7.1




240"

1.

2.
3.
4.
10-6 1/8"
5.
6.
7.
10-6 1/8"
1M1473003 MR ROOF PANEL, 10" 6 1/8", NO CUT ENSION MEMBER
1P3131 OUTSIDE FOAM CLOSURE (3' LENGTH)
1M1000532 450 RIDGE, 140 DEG
1P2903RNULL POP RIVET
1K1000 SPLICE CHANNEL 5
1M1001237 J-CHANNEL TRIM é
1M1001559 RAKE TRIM 6
1P2902RNULL 1-1/4" SELF DRILLING SCREW 400
1P2900RNULL 3/4" SELF DRILLING SCREW 150
1P2400RNULL ROOF PEN |
PART NUMBER DESCRIPTION HARDWARE/QTY.

MULTI-RIB NOTES:

THE DETAILS SHOWN ARE SUGGESTIONS OR GUIDELINES ON HOW TO
ERECT THE SYSTEMS. THE INFORMATION SHOWN IS ACCURATE, BUT IT
IS NOT INTENDED TO COVER ALL INSTANCES, BUILDING
REQUIREMENTS, DESIGNS OR CODES. THE DETAILS MAY REQUIRE
CHANGES OR REVISIONS DUE TO FIELD CONDITIONS.

IT SHALL BE THE RESPONSIBILITY OF THE ERECTOR TO ENSURE THAT THE
DETAILS MEET PARTICULAR BUILDING REQUIREMENTS AND TO
ASSURE ADEQUATE WATER TIGHTNESS.

THE ERECTOR SHOULD THOROUGHLY FAMILIARIZE HIMSELF/HERSELF
WITH ALL ERECTION INSTRUCTIONS BEFORE STARTING WORK.

THE PANELS SHOULD BE INSTALLED PLUMB, STRAIGHT, AND
ACCURATELY TO THE ADJACENT WORK.

FLASHING AND TRIM SHALL BE INSTALLED TRUE, AND IN PROPER
ALIGNMENT, WITH ANY EXPOSED FASTENERS EQUALLY SPACED FOR
THE BEST APPEARANCE.

SEALANT SHALL BE FIELD APPLIED ON DRY, CLEAN SURFACES. SOME
FIELD CUTTING AND FITTING OF PANELS AND FLASHING IS TO BE
EXPECTED BY THE ERECTOR AND MINOR FIELD CORRECTIONS ARE A
PART OF NORMAL ERECTION WORK.

WORKMANSHIP SHALL BE OF THE BEST INDUSTRY STANDARDS AND
INSTALLATION SHALL BE PERFORMED BY EXPERIENCED METAL
CRAFTSMEN.

METAL G DRILLIN OF ROOF
FASTENERS MUST BE CA LLY OVED FROM THE ROOF BY
BRUS OR SWEEPING"AT THE OF EACH DAY DURING
INSTAEEATION. SHAVINGS LEFT O UICKLY RUST
ANDISTAIN THE ROOF FINISH.

RIDGE BEAM

PURLIN

WWW.POLIGON.COM

®

by PORTER CORP

MAIN: (616) 888-3500

FIELD SUPPORT: (616) 888-3504

PRINT DATE:

2/28/2023
1:48

SCALE:

DRAWN BY:

samuel.dewitt
A

REV LEVEL:

CREATION DATE:

4/4/2016

74608
CAD MODEL: ~—P ,I 5909

ORDER NO:

PROJECT:

Civitan Park
PROJECT LOCATION:
Hickory, NC
ROOF LAYOUT

DRAWING:

IF THESE DRAWINGS ARE SEALED, THE SEAL APPLIES ONLY TO
BUILDING COMPONENTS (AND FOUNDATION DESIGN IF APPLICABLE)
DETAILED WITHIN THESE DRAWINGS.

SHEET

6.1




#12-24 X 1 1/4" SELF DRILLING SCREW
EACH SIDE OF RIB & CENTERED

/MULTI RIB PANEL (24 GA.)

SPLICE CHANNEL
(CENTER AT J-CHANNEL JOINT)

#12-14 X 3/4" SELF DRILLING SCREW
EACH RIB

J-CHANNEL TRIM
(INSTALL WITH 1/2"
GAP FROM MR PANEL)

/U—CLIP

AND/ OR TAIL

POP RIVET (8) PLCS

(4) TOP & (4) BOTTOM

J-CHANNEL TRIM
(INSTALL WITH 1/2"
GAP FROM MR PANEL)

TENSION MEMBER

‘ "/

RAKE TRIM

-100
X 3/4" ILLIN
1 2"

PART DESCRIPTIONS:

#12-14x3/4" SELF DRILLING SCREW.

#12-14x1 1/4" SELF DRILLING
? SCREW.

1/8" POP RIVET.

NOTE:
ALL MATERIALS ARE CALLED
OUT ON SHEETS 5.1.

®

WWW.POLIGON.COM

by PORTER CORP

MAIN: (616) 888-3500

FIELD SUPPORT: (616) 888-3504

2029A RAKE DETAIL

MR-400

Ql »
)
8| £
<
=N
z NI
R
=
2
3| <
53y
o
5
<o|>
23|z
o
= &
IS n
s o
S| Q| 7
Wi ol
< 2 -
o NI
z 6'\8
z
N
i a a
<
5 18 |o
n
=
<
'_
i
[a)
5
O =
Zl O
N
EE
Z
=l N~
933
| O
gi T
% |6
20 O
oRr |[.x
— — %
b -
g R B

IF THESE DRAWINGS ARE SEALED, THE SEAL APPLIES ONLY TO
BUILDING COMPONENTS (AND FOUNDATION DESIGN IF APPLICABLE)
DETAILED WITHIN THESE DRAWINGS.

SHEET




S
988
o388
O s@
RIDGE CAP #12-24 x 1 1/4" SELF ) % o
OVERLAP ¢" DRILLING SCREW g
MULTI RIB PANEL (24 GA.) ( ) EACH SIDE OF RIB ® % g §
/ / OUTSIDE FOAM CLOSURE cl 3
RIDGE CAP /.// N
A A g
A ©
] -'”..ii.ﬁs l-i §
" ———— — la
#12-14 X 3/4" SELF ————— 2
DRILLING SCREW I'
EACH RIB e
S| g
L8| £
38,
z Nz
R
:‘(%
©
MULTI RIB PANEL (24 GA.) 52).<
=
<ol
(AN I
of |3
P [ON
3| oo &
w7 Q!
= oz =
D S u [a}
#12-24 X 1-1/4" SELF
DRILLING SCREW
EACH SIDE OF RIB
3
<
i
@]
Z
ol 2
48
NEE
S| G| O
Clz w
23
(O
PURLIN #08 5>
AND/ OR e B E
TAIL g B Iz
a [ [a)
SHEET
20224 PURLIN DETALL MR-600 S e T e T e 7.1




	CS
	Drawing View18

	1
	Drawing View6
	Drawing View28
	Drawing View29
	Drawing View34

	2
	Drawing View19
	Detail View  (1 : 3)

	2.1
	3
	Drawing View3
	Drawing View25
	Drawing View26
	Drawing View33

	4
	Detail View  (1 : 4)
	Detail View  (1 : 6)

	4.1
	Detail View  (1 : 6)
	Detail View  (1 : 6)

	6
	Drawing View32

	6.1
	Drawing View20
	Drawing View21

	7
	7.1



